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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,533 85957 40,966 44,991
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
RIRET3T 179 584 283 301
RIRET4T 419 977 482 495
B 631 1,634 802 832
REH 2,757 6,140 2,869 3,271
L&A 4,330 9,345 4,354 4,991
5E 2,656 5,843 2,825 3,018
B AN 1,331 2,838 1,333 1,505
BERT 1,409 1,952 938 1014
BER2T 920 1,601 777 824
BERST 758 1,816 873 943
B 3,087 5,369 2,588 2,781
BEXRE 284 641 310 331
[N 2,190 4,801 2,287 2,514
hERE 642 1,420 655 765
e 2,430 4,966 2,401 2,565
25 L ET 2,325 4,969 2,386 2,583
B &AL BT 75 149 62 87
HEFILET1T 566 1,215 565 650
HEFILET2T 603 1,237 586 651
HEZFILAT3T 694 1,547 756 791
g 1,938 4,148 1,969 2,179
B & it B Fr ET 684 1,524 735 789
BHEREBET1T 582 1,172 580 592
BHERERET2T 763 1,704 825 879
BHERERETST 802 1,592 722 870
BHERERET4T 509 924 427 497
HEKERETST 826 1,643 785 858
HEERET6T 890 1,882 909 973
BHERERET7T 896 1,828 893 935
HERERETST 72 203 98 105
£t| 5340 10,948 5,239 5,709
HEF R FET 2,006 4,108 2,003 2,105
S|EFET1T 642 1,591 792 799
S|EFET2T 767 1,716 808 908
S|EFET3 T 747 1,361 628 733
g 2,156 4,668 2,228 2,440
ERE1T 583 1,311 629 682
EIRET2T 387 1,030 510 520
EREIST 522 1,320 647 673
EIRETAT 698 1,438 635 803
EIZEIST 548 1,185 586 599
g 2,738 6,284 3,007 3,277
M EFHE 2,903 6,125 2,884 3,241
J\THET1T 33 35 18 17
J\THET2T 23 50 26 24
J\THEI3T 49 101 47 54
B 105 186 91 95
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